" ad

DR o ] P A LS LB v ] JE 4 ] PR AR T A R I T 75 22,
A PR SEA R 5 AT R S BT IO HE BRI, 15 1% LUR 2R T 2024 4 12

03 H 09 I 30 73 BRE i SO i i o [ e s SR R 53458

s RS

POWERCHINA-0301004-240048

T LUNAES RSP HARZH % i Ex %
= i fir | |
1 LAY g 600V & | 20
2 LAY g 600V % | 20
3 CERiiit af 600V % | 20
4 AU T fregcc 600V % | 20
5 1% W iy nge nE Smmk60mm | % | 10
6 LA U i 3cm FEx3mm JFx5m K #| 10
7 HEE fragcc) &1 3
8 HEE A &1 3
9 HRE AN & 3
10 HRE KM H & 3
11 ANk IE 52 H & 3
12 ANk IE 52 AN & 3
13 ARk IE 52 B & 3
14 R WZHEE 1K kg | 30
15 Ikl $100  &=1mm Fr| 500
16 Ikl $125  &=lmm Fr| 300
17 Ikl $350  §=2.5mm Frl 40
18 BES A $ 100 Jr| 100
19 BESC A $ 125 | 100
20 ot A $ 100 F| 50
21 b Yy d125 J| 50
22 Tl sk R EE e 10A A1 10
23 #isk NG X ] 10A AN110
24 Ehl 5 ERE 4 20
25 il B R 4 ~f A1 10
26 Bli K 5 1. 5m*1. 5m Bl 20
27 PR Hte B £ ] 100
28 AN N840 £ | 100
29 AN M10%45 £ | 200
30 AN M12%70 | 800




31 AN AR M16%80 £ | 1500
32 NG M22%90 £ | 500
33 AN M20%90 £ | 400
34 ANEF AN AR M27%90 £ | 200
35 AN AN ISR M30%100 £ | 200
36 JRo% J507x®3. 2 KPGHE kg | 100
37 JRo% J507x®2.5 KPGHE kg | 50
38 JRo% J422% @ 3. 2 KPUPE kg | 40
39 JRo% (A022)E316-16%3. 2 kg | 40
40 FRo% (A022)E308L-16% & 3. 2 kg | 40
41 Y2 TGF308L (AFE M m ) KIEH: Kg | 200
42 Y2 TGF316L (AFEM e m ) KIEH: Kg | 200
43 o TIG-50 KVG¥ Kg | 400
44 “iRpER T492T1-1C1 K Kg | 100
45 TARIR E308LT1-1 ZG:OAEI L H IR 1mm Kg | 100
46 Eiel 40L | 100
47 AR 40L | 100
48 R 40L | 100
49 AR 40L | 100
50 R GE DN100 PN2. 5-RF Fr| 58
51 GRS DN65 PN2. 5-RF K| 10
52 RS DN40 PN2. 5-RF Frl 20
53 RSy DN20 PN2. 5-RF Fr| 70
54 RS DN32 PN2. 5-RF Frl 16
55 RSy DN50 PN1.0-RF Frl 20
56 RSy DN8O PN1.0-RF Fl 30
57 RSy DN20 PN1.0-RF Al 30
58 SR PGE DN65 PN1. 0-RF F| 20
59 GRS DN40 PN1.0-RF F| 20
60 GRS DN15PN1. 0-RF F| 10
61 GRS DN25 PN2. 5-RF F| 40
62 GBS DN15 PN2. 5-RF F| 270
63 GRS DN25 PN1.5-RF | 20
64 RSy DN20 PN4. 0-RF Frl 16
65 RSy DN100 PNI.0-RF Frl 10
66 RS DN32 PN1.0-RF Frl 16
67 EIRPEGER DN100 PNO. 012-RF Fr| 84
68 RSy DN400 PNO. 012-RF Fl 30
69 RSy DN200 PNO. 012-RF Fr| 70
70 LB G DN350 PNO. 012-RF J| 30
71 LB GE DN500 PNO. 012-RF J| 30
72 J L TH =R LB ™1 20
73 SEE | 100




74 i3] 9 F| 50
75 paRlii 160 A1 20
76 PR eSS ] | 50
77 PR Rz 3mm kg | 1000
78 L $100 & =lmm Fr| 500
79 B A $ 100 Fr| 150
80 e A $ 100 J| 50
81 Bli K 5 1. 5m2m Bl 10
82 e B T P-80 & | 10
83 EHTREE P-80 A1 20
84 S “fisg 5 A1 100
85 5% J507%®3. 2 KPHvE kg | 100
86 % J422% D 3. 2 KUV kg | 50
87 JRo% (A102) 304%3. 2 kg | 100
88 FRo% (A102) 304%2. 5 kg | 50
89 yhes ER304 kg | 50
90 LY M16x95 0Cr18Ni9 | & | 130
91 LY M20x105 30CrMo | & | 100
92 LY M12x75 30CrMo £ | 2050
93 LY M16x65 8.8 /8 | 40
94 LY M20 X 290 8.8/8 £ | 160
95 W M20 X 195 8.8/8 £ | 130
96 W M16X 175 8.8/8 £ 40
97 12k M20 X 220 8.8/8 £ | 130
98 I M16x175 0Cri8Ni9 | & | 100
99 A M16x150 0Cri8Ni9 | £ | 300
100 W M12 X 50 A2-50 £ 20
101 LY M12X 75 30CrMo £ | 650
102 LY M20X 105 0Cr18Ni9 | & | 100
103 LY M16X 95 0Cr18Ni9 | & | 200
104 LY M16X 95 35CrMo £ | 120
105 PR M12X 75 35CrMo £ | 260
106 LY M16 X 65 A2-50 £ | 1300
107 W2k M16X 60 A2-50 £ | 160
108 I M12X 75 A2-50 £ | 50
109 I M12X 50 A2-50 £ | 430
110 9 e M16 X 65 8.8.8 1 70
111 kD $ 100 | 100
112 Bl 3t T 5
113 FEhil 2~F | 5
114 FEhil 5~F | 5
115 AR 587 M| 2
116 A% K& w1




117 ARy 18mm*0. 1mm L 10
118 CERiiit W % | 80
119 CERiiit arfh % | 80
120 LAY AN % | 80
121 LA H % | 80
122 R TH 8 | 5
123 = I A i | 2
124 TR KA 20mm A1 50
125 HB KA 18mm A1 50
126 Je el 3. 6%100 £ ] 30
127 Jefe L 3.6%200 CKf1) £ ] 30
128 ikt 10# kg | 10
129 IR A 2 K% kg | 20
130 W5 E A &/ 2
131 B4 HR % T
132 % il 6 Kx8 K Rl 3
133 A kg | 20
134 ETIIH SATA 93437 &| 5
135 TR 99% | 5
136 SLPE g M| 2
137 SLPE ot M| 2
138 P ARG | 2
139 55 R | 10
140 | $16 * | 50
141 ES LD LY HSS-4241 4-32mm N5
142 1k PiAH 10A A 24F A~ 10
143 ¥k =M 10A A%F A~ 10
144 HEZIK B8 A M6%40 £ 20
145 HEZIK B8 A M8*60 £ 20
146 HEZIK B8 A M10%60 £ | 50
147 HEZIK B8 A M12%60 £ | 50
148 HEZIK B8 A4 M16%60 £ 20
149 AP FigAE M6+40 7y~ 5L 5 1% B i £ 20
150 CAVAY; il Yis M8#50 7 V-5 £ J WM 1] 20
151 VIVAVELYis M10*60 77 -5t 2 J2 i 1] 20
152 VIVAVEL Vs M12%70 7 P 3l 2 g ] 20
153 R IKE M6*60 £ | 500
154 R E N8*60 £ | 500
155 | Ah7S Fa sl B BUR 22 4. 8%60 kg | 5
156 | SRIKZR K ik 8 K dhzk 100 i & 2
157 ORI 2 BV-500 6. Omm2 K | 100
158 AR 2 BV-500 2. 5mm2 K| 300
159 e 5 M12%150 N 130




160 W ] B M16%150 A~ 365
161 I P 2k M20%150 A1 50
162 W ] B M225%150 A1 20
163 W]k M27%150 N 20
164 1T 5 e 2k M30%150 A1 20
165 LA A WALT 5 bR Fr| 500
166 LA A IEX AR F | 1000
167 | AU ME R ©40 £ 10
168 | AN U M ®25 £ 50
169 | AU BAE ®20 £ | 100
170 W QRE £ D14 £ | 200
171 AR =d ® 14—304ss £ 10
172 ers JA22% 2.5 KPG¥E kg | 60
173 ey JA22% 3.2 KPG¥E kg | 60
174 JF O &1 100A A 50
175 BT LA $20. 25 (%54 A1 10
176 SBT3 $30 ™13
177 BT LA $35 ™13
178 LB I L3 $ 40 ™13
179 L2k ®1.8 K& % | 50
180 JRAEES 3K $ 8%150 ™ 5
181 JRAE A 2k $ 10%150 O
182 JRAE A 2k $ 12%150 N5
183 il Sk 6150 PHIEH R N3
184 il Sk d 10150 PHFEH R N3
185 &5 M 1. 5mm? L 4
186 &5 M 2. 5mm? H| 2
187 PR 177 TP66A 9mm F {7, | 3
188 oy 75 TP66A H| 5
189 BEERS #1757 TP66A Al
190 HL 4 A 16mm %1 2
191 HL 4 A 20mm | 1
192 IR0 2 CZXB-F-37kW/220/380V Z21] 1
T CRIELR
Ly ARSEN BRI, Wi AL L R A I 2005 BB St 72 i

M E S8, WIS IehliE., B, E. &5 RS AT I N A H P

AT RER AR, B e BAZ P 7 AN P S AMEAT S H

2. A 2024 4F 12 H 10 H

IS

I

3.

et 545




4. JREARHERESR . A A EK

5. Bitri: o

6. PSR IITERER A ia g A R R R PR

T W SESCAF AR S RAN 22, e SRR F ARG T B BRI IR E, Wi
B BOEAR — 13 BIA_— 1

8+ FRACHAE SR : 5B AR S5 AE A ELAR A SR AR

9, HEEK: I

=, BRI

KIGN: BRI AT BYEA T

Hy o ke fes B ARERHAR S R BN R R B —
e Z%: 744106

BERAN: Bt

B il 13269846926

B IR : 1298110433@qq. com

orof o 1 A il P



		www.bjca.org.cn
	2024-11-29T16:58:05+0800
	BJ
	ePolicy4CloudEss


		www.bjca.org.cn
	2024-11-29T18:02:19+0800
	BJ
	ePolicy4CloudEss




